SOUTH SYDNEY HIGH SCHOOL

PRELIMINARY COURSE

MATHEMATICS

HALF YEARLY EXAMINATION

2008

Time Allowed—1.5 Hours

Directions to Candidates

Attempt ALL questions

All necessary working must be shown. Marks may be deducted for careless or badly
arranged work.

Board approved calculators maybe used.
Each question is to start on a new page.

All questions are of equal value.

Juestion 1 -

3216 x 10°
48x107°

(@) Evalvate

(ii) In the diagram given below, AB || CD and EF = EG. Find the value of x, giving reasons.

A b B

4x° (&

C F G D
(i) Simplify 97 +2+/75 —2/63 + 443 .
(iv) Expand and simplify (/5 + 32 ).
(v) Factorise (¢ —y)° —(x + y)y°.
(vi) Factorise F—dx-32.

Question 2

(i) Solve 5% +6x ~3 =0 by the quadratic formula. (Round off to 2 decimal places)
(i) Simplify 2 +—Z to a single fraction with a rational denominator.
3J5 6

(iif) Given the equation of motion V* = 1 + 2as, find u (cortect to 1 decimal place)
whenv =56, a=2ands=9.

@iv) Solve simultaneously
3x—4y=9
6x + 2y =3.
(v) Evaluate correct to 2 decimal places 1;12—4_4?87 .

Question 3

(i) Express 0-25 as a common fraction. Show all working.

(i) Solve each of the following:
« (@ -3<1l-z<4

® fo+ 1] = 4.




(i) ABCD is a square of side length 10 cm. M is the midpoint of BC and N is the midpoint of CD. Question 5 )
' “() " A sporting field is in the shape of a rectangle with a semicircle at one end as shown in
the diagram.
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5 4 ™ l
. c 5 M. .5 B
a. Prove that AABM =AADN.
I50 m
b. What type of quadrilateral is the figure AMCN? Give reasons. ~
. 22
— Find the area of the quadrilateral AMCN. Using the approximate value 7 for , find:
Question 4 ‘ (a) the area of the entire ﬁeld;» .

@ Inthe diagram given below, AB ” CD. Find the values of x and y, giving reasons. (b) the total cost of fencing the boundary of the field at a cost of $‘30 per metre.

N

(if) In the diagram given below (All lengths are in cm.)

(i) Find the value of x in the equation 2.1 + 1 . . .
15 8 «x (a) Prove that the triangles AED and ABC are similar.

(b) Hence or otherwise, find the exact value of x.

ey . . x3-—8 . x3—2x2
(i) Simplity 32+6x+12 3
i . ' (iii) For the function f(x) = x + —1); :
% - (@ Show that /(%) = £(2),
Q C S b a
‘ (b) Find x such that f (x) = 2.
pd T

PORSTisa regula.r. pentagon and PU L PT. Find the size of £QUP, in degrees. Give reasons.
END OF EXAMINATION
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